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1 Introduction
Two 10MHz channels were agreed to be introduced in the WF [1] in last meeting. This contribution discusses BS TX RF requirements for 10MHz.
2 Discussion
ACLR and UEM requirements are related to channel bandwidth, so impact of these requirements needs to be studied for introduction of new channel bandwidth. 
ACLR requirement guarantee the co-existence performance between two adjacent carriers. If following LTE definition, ACLR requirement for 10MHz channel bandwidth should also consider 10MHz adjacent channel and reuse the same ACLR limit defined for 20MHz. However, if we observe channels in above section, 10MHz is not widely defined in Band 46 as in Figure 2. In option 2, there are even not two 10MHz channels adjacent to each other. Therefore, 20MHz adjacent channel seems also reasonable for LAA in Band 46 as in Figure 3 option 2.
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Figure 3 ACLR definition for 10MHz channel bandwidth
UEM requirement in ETSI is defined scaled with nominal channel bandwidth [2], so same method can be followed for 10MHz for LAA. However, under the same reason as stated above for ACLR, 20MHz UEM requirement could also apply for 10MHz carrier without any co-existence problem.
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Figure 4 Transmit spectral power mask in [2]
Two alternatives for ACLR and UEM requirement for 10MHz channel bandwidth are as below and the first alternative is preferred.
· Same ACLR level is defined for 10MHz adjacent channel, UEM requirement is scaled for 10MHz similar as that in ETSI.
· For 10MHz carrier, 20MHz adjacent channel is assumed and ACLR/UEM requirement for 20MHz is reused.

3 Conclusion

The contribution discussed BS TX requirements for additional channel bandwidth for LAA and:
Two alternatives for BS ACLR and UEM requirement for 10MHz channel bandwidth are as below and the first alternative is preferred.
· Same ACLR level is defined for 10MHz adjacent channel, UEM requirement is scaled for 10MHz similar as that in ETSI.

· For 10MHz carrier, 20MHz adjacent channel is assumed and ACLR/UEM requirement for 20MHz is reused. This option is not aligning with ETSI requirement.
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